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Math 4400 Quiz 4
June 26, 2016

Instructions: You h until the end of class to complete this qui Th s quiz is two pages, and worth 20 points. Make
sure to write your name at the tpfthq Shwall of your work for fll redit!

1. (10 points) Compute the order of [18] in the group Z/21Z. (Here, as usual, we're considering Z/21Z as a group
under addition)
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2. (10 points) Prove that the set of linear polynomials with integer coefficients, i.e. {az+b|a,b€ Z}, forms an
abelian group under the usual addition rule

(az+b)+ (cz+d)=(a+c)z+ (b+d)
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